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21 | it [£3] 4H 1 -100 Jris] 3C = -110
22 | IRFg Jris] 2S -2 200 [£3] 4H = 420 6
23 | XWH/ 1t INT 1 -100 1t 2S = 110 5
24 | X Jris] 6H 1 50 Jris] 5H = -450 11
25 | ZRFg Jris] 3NT -2 200 x 1S = -80 7
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21 | it [£3] 3H = 140 [£3] 3H = 140
22 | IRFG [£3] 4HX = 5900 1t 2S -1 -50 12
23 | XWH/ Jris] 2H 2 200 [£3] 2S = 110 3
24 | X x 6H -2 100 x 4H +1 -450 11
25 | ZRFg x 4S 3 300 x 2C -1 100 5
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23 |wal B | 2s | 1| -100] & | 2s | = | 110 5
o4 |wxk| = | a0 | +12 | 450 & | 6H | -2 | 100 11
25 |zx@g| & [3NTx| 3 | 800 | % | 2¢ | 2 | 200 | 12
DATUM%iit 5 E
SKYPFA IR ERER v 5 ] 23 | 28
BHER/EEIR O Mo/ =N O ait 23 | 28
T R=E/XUR O IR/ D5 O V.P. 7.47 | 12.53




